

Gap Theorem on Complete Noncompact Riemannian Manifold

Cheng Bing ZHAO^{1,2}

1. *Department of Mathematics, Anhui University of Architecture, Anhui 230022, P. R. China;*

2. *Postdoctoral Research Station of Management College, Hefei University of Technology, Anhui 230009, P. R. China*

Abstract A gap theorem on complete noncompact n -dimensional locally conformally flat Riemannian manifold with nonnegative and bounded Ricci curvature is proved. If there holds the following condition:

$$\int_0^r sk(x_0, s)ds = o(\log r)$$

then the manifold is flat.

Keywords Ricci curvature; conformally flat; gap theorem.

Document code A

MR(2010) Subject Classification 53C20; 53C21

Chinese Library Classification O186.1

1. Introduction

Let M be an n -dimensional complete noncompact Riemannian manifold with nonnegative Ricci curvature. Mok, Siu and Yau [7] proved that if a complete noncompact Kähler-Steen manifold of nonnegative and bounded holomorphic bisectional curvature of complex dimension $n \geq 2$ has maximal volume growth and the scalar curvature decays faster than quadratic, in the sense that, for some $C > 0$ and $\varepsilon > 0$, $R(x) \leq Cd(x_0, x)^{-(2+\varepsilon)}$, then M is isometrically biholomorphic to C^n . This can be interpreted as a gap phenomenon of the bisectional curvature on Kähler manifolds (A more general theorem in Riemannian category was proved by Greene and Wu in [10]).

Later the similar result was extended to the Riemannian manifold with maximal volume growth and nonnegative Ricci curvature by Bando, Kasue and Nakajima in [11]. Recently, Chen and Zhu obtained the gap theorem on the locally conformally flat manifolds [2]. They showed that:

Let M be an n -dimensional ($n \geq 3$) complete noncompact locally conformally flat Riemannian manifolds with nonnegative Ricci curvature. If the scalar curvature is bounded and there exists

Received March 26, 2009; Accepted July 3, 2009

Supported by the National Natural Science Foundation of China (Grant No.70631003), the Natural Science Foundation of Anhui Education Department (Grant No.KJ2011A061), the Natural Science Foundation of Anhui Science and Technology Department (Grant No.1104606M01) and the Doctor of Philosophy Foundation of Anhui University of Architecture (Grant No.2007-6-3).

E-mail address: chengbingzhao@163.com

a positive function $\varepsilon : R \rightarrow R$ with $\lim_{r \rightarrow \infty} \varepsilon(r) = 0$ such that

$$\frac{1}{\text{vol}(B(x_0, r))} \int_{B(x_0, r)} R(x) dv \leq \frac{\varepsilon(r)}{r^2}, \text{ for } x_0 \in M, \quad r > 0, \quad (1)$$

then M is flat.

Later in [3], they used the theory of the Ricci flow to obtain the analogous gap theorem on Kähler manifold as follows.

Suppose M is a complete noncompact Kähler manifold of complex dimension $n \geq 2$ with bounded and nonnegative holomorphic bisectional curvature, and the condition (1) is satisfied, then M is flat.

In [9], Ni and Tam changed condition (1) into the following condition (*)

$$\int_0^r sk(x_0, s) ds = o(\log r) \quad (*)$$

where $k(x_0, s) = \frac{1}{\text{vol}(B(x_0, s))} \int_{B(x_0, s)} R(x) dv$. They got the same result on Kähler manifold.

Stimulated by Ni and Tam's result, we consider condition (*) on the locally conformally flat Riemannian manifold, and also get the analogous gap theorem.

Theorem *Let M be an n -dimensional ($n \geq 3$) complete noncompact locally conformally flat manifolds with nonnegative Ricci curvature. If the scalar curvature is bounded and satisfies condition (*), then M is flat.*

We remark that the condition (1) is stronger than condition (*), because from (*), we can only know the average curvature decay in infinity. In fact, if the scalar curvature satisfies the condition (1), then

$$\lim_{r \rightarrow \infty} \frac{\int_0^r sk(x_0, s) ds}{\log r} = \lim_{r \rightarrow \infty} \frac{\int_0^r \frac{\varepsilon(s)}{s} ds}{\log r} = \lim_{r \rightarrow \infty} \varepsilon(r) = 0.$$

2. Yamabe flow and estimate for its solution

Suppose g_{ij} and R_{ij} are the metric tensor and the Ricci tensor on M , respectively. The Yamabe flow is the following evolution equation for the metric:

$$\begin{cases} \frac{\partial g_{ij}}{\partial t} = -R(x, t)g_{ij}(x, t), & x \in M, \quad t > 0; \\ g_{ij}(x, 0) = g_{ij}(x), & x \in M. \end{cases} \quad (2.1)$$

Write $g_{ij}(x, t) = (u(x, t))^{\frac{4}{n-2}} g_{ij}(x)$ for some positive function $u(x, t)$. Then (2.1) can be written in the equivalent form:

$$\begin{cases} \frac{\partial u^N(x, t)}{\partial t} = (n-1)N \left[\Delta u(x, t) - \frac{n-2}{4(n-1)} R(x) u(x, t) \right]; \\ u(x, t) > 0, \quad x \in M, \quad t > 0; \\ u(x, 0) = 1, \quad x \in M, \end{cases} \quad (2.2)$$

where $N = \frac{n+2}{n-2}$, Δ is the Laplace operator with respect to the initial metric $g_{ij}(x)$.

We know from [2] that the Yamabe flow (2.1) has a smooth solution, namely,

Proposition 2.1 *Let M be an n -dimensional ($n \geq 3$) complete noncompact Riemannian manifolds with nonnegative Ricci curvature. If the scalar curvature is bounded, then the Yamabe*

flow (2.1) has a smooth solution on a maximal time interval $[0, t_{\max})$ with $t_{\max} > 0$ such that either $t_{\max} = +\infty$, or the evolving metric contracts to a point at a finite time t_{\max} in the sense that for any curve γ on M , the length of γ with respect to the evolving metric $g_{ij}(x, t)$ tends to zero as $t \rightarrow t_{\max}$.

Now we want to drive some estimate for the solution of the Yamabe flow (2.2). From above proposition we have a smooth solution $g_{ij}(x, t)$ of (2.1) on a maximal time interval $[0, t_{\max})$. Write the solution as $g_{ij}(x, t) = (u(x, t))^{\frac{4}{n-2}} g_{ij}(x)$, where $u(x, t)$ is a positive solution of (2.2) on $[0, t_{\max})$.

Lemma 2.1 For $r \rightarrow +\infty$, $t > 0$, we have

$$-\int_{B(x_0, r)} \log u(x, t) dv \leq C [1 - (\log u)_{\min}(t)] tr^{-2} \text{vol}(B(x_0, r)), \quad (2.3)$$

where $(\log u)_{\min}(t)$ is the infimum of $\log u(x, t)$ for $x \in M$, $\epsilon > 0$ and C is some positive constant depending only on n .

Proof Since the Ricci curvature of the initial metric $g_{ij}(x)$ is nonnegative, we know that there exists a constant $C > 0$ depending only on the dimension such that for any fixed point $x_0 \in M$ and $r > 0$ there exists a smooth function $\varphi(x) \in C^\infty(M)$ such that

$$\begin{cases} \exp \left[-C \left(1 + \frac{d(x, x_0)}{r} \right) \right] \leq \varphi(x) \leq \exp \left[- \left(1 + \frac{d(x, x_0)}{r} \right) \right], \\ |\nabla \varphi(x)| \leq \frac{C}{r} \varphi(x), \\ |\Delta \varphi(x)| \leq \frac{C}{r^2} \varphi(x). \end{cases} \quad (2.4)$$

Suppose $u(x, t)$ is solution of (2.2). Since $\frac{\partial u}{\partial t} < 0$ and $u(x, 0) = 1$, we have $u \leq 1$, and

$$\begin{aligned} \frac{\partial}{\partial t} \int_M \varphi u^N dv &= \int_M \varphi \left[(n-1)N \Delta u - \frac{n-2}{4} Ru \right] dv \\ &= (n-1)N \int_M \Delta \varphi u dv - \frac{n-2}{4} \int_M R \varphi u dv. \end{aligned} \quad (2.5)$$

So by integrating (2.5) from 0 to t , we obtain:

$$\int_M \varphi (1 - u^N) dv \leq \frac{C}{r^2} \int_0^t dt \int_M u \varphi dv + C \int_0^t dt \int_M R \varphi u dv. \quad (2.6)$$

From (*) we know

$$\begin{aligned} \lim_{r \rightarrow \infty} k(x_0, r) &\leq o\left(\frac{1}{r^2}\right) \leq Ct \left(\frac{1}{r^2} \int_M \varphi dv + \int_M R \varphi dv \right), \\ \int_M R \varphi dv &\leq \int_M R e^{-(1 + \frac{d(x, x_0)}{r})} dv \\ &= \lim_{r \rightarrow \infty} \int_{B(x_0, r)} R(x) e^{-(1 + \frac{d(x, x_0)}{r})} dv + \lim_{r \rightarrow \infty} \int_{M \setminus B(x_0, r)} R(x) e^{-(1 + \frac{d(x, x_0)}{r})} dv \\ &\leq \lim_{r \rightarrow \infty} \int_{B(x_0, r)} R(x) dv \leq \lim_{r \rightarrow \infty} o(r^{-2}) (\text{vol}(B(x_0, r))). \end{aligned}$$

Thus we get

$$\int_M R \varphi dv \leq \lim_{r \rightarrow \infty} o(r^{-2}) \text{vol}(B(x_0, r)). \quad (2.7)$$

Similarly, we have

$$\int_M \varphi dv \leq \lim_{r \rightarrow \infty} C \text{vol}(B(x_0, r)). \quad (2.8)$$

Substituting (2.7) and (2.8) into (2.6), we deduce

$$\int_M \varphi(1 - u^N) dv \leq \lim_{r \rightarrow \infty} Ct \left(\frac{1}{r^2} \right) \text{vol}(B(x_0, r)) \quad (2.9)$$

for some positive constant C depending only on n .

On the other hand, since $u \leq 1$ and $1 - e^x \geq -\frac{x}{2}$ for $-1 \leq x \leq 0$, we get

$$\begin{aligned} \int_M \varphi(1 - u^N) dv &\geq \int_M \varphi(1 - u) dv \\ &= \int_{\{\log u \geq -1\}} \varphi(1 - e^{\log u}) dv + \int_{\{\log u \leq -1\}} \varphi(1 - e^{\log u}) dv \\ &\geq -\frac{1}{2} \int_{\{\log u \geq -1\}} \varphi \log u dv + \frac{1}{2} \int_{\{\log u \leq -1\}} \varphi dv. \end{aligned}$$

Noting that the last two terms are positive, we deduce

$$-\int_{\{\log u \geq -1\}} \varphi \log u dv \leq 2 \int_M \varphi(1 - u^N) dv$$

and

$$\begin{aligned} -\int_{\{\log u \leq -1\}} \varphi \log u dv &\leq -(\log u)_{\min}(t) \int_{\{\log u \leq -1\}} \varphi dv \\ &\leq -2(\log u)_{\min}(t) \int_M \varphi(1 - u^N) dv. \end{aligned}$$

So

$$-\int_M \varphi \log u dv \leq 2(1 - (\log u)_{\min}(t)) \int_M \varphi(1 - u^N) dv. \quad (2.10)$$

By (2.4), we get

$$-\int_M \varphi \log u dv \geq -\int_M \log u e^{-C(1 + \frac{d(x, x_0)}{r})} dv \geq -e^{-2c(n)} \int_{B(x_0, r)} \log u dv. \quad (2.11)$$

Combining (2.9) and (2.10) with (2.11), we obtain the estimate (2.3). \square

Lemma 2.2 *There exists a positive constant C such that*

$$\log u(x, t) \geq -C \left[\int_0^r sk(x_0, s) ds - \frac{1}{\text{vol}(B(x_0, r))} \int_{B(x_0, r)} \log u dv \right] \quad (2.12)$$

for $\forall t > 0$ and $\forall r \geq 1$.

Proof Since in general M must not be nonparabolic, we use a trick of Shi in [6] by considering a new manifold $\widetilde{M} = M \times R^3$, where R^3 is equipped with the flat Euclidean metric and \widetilde{M} is equipped with the product metric. Let $x \in M$, $\tilde{x} \in \widetilde{M}$. Denote by $R(x)$ and $\widetilde{R}(\tilde{x})$ the scalar curvature of M at x , and the scalar curvature of \widetilde{M} at \tilde{x} , respectively. Obviously $\widetilde{R}(\tilde{x}) = R(x)$ for $\forall x \in M$, $\tilde{x} = (x, y) \in \widetilde{M}$, $\forall y \in R^3$. Thus we define $\tilde{u}(\tilde{x}, t) = u(x, t)$ for $\forall \tilde{x} \in \widetilde{M}$, $\forall t > 0$,

then \tilde{u} is a solution of the following evolution equation.

$$\begin{cases} \frac{\partial \tilde{u}}{\partial t} = (n-1)N[\tilde{\Delta}\tilde{u} - \frac{n-2}{4(n-1)}\tilde{R}(\tilde{x})\tilde{u}], & \tilde{x} \in \tilde{M}, \forall t > 0; \\ \tilde{u}(\tilde{x}, t) > 0, & \tilde{x} \in \tilde{M}, \forall t > 0; \\ \tilde{u}(\tilde{x}, 0) = 1, & \tilde{x} \in \tilde{M}, \end{cases}$$

where $\tilde{\Delta}$ is the Laplacian operator of \tilde{M} .

As we know, \tilde{M} still has nonnegative Ricci curvature and bounded scalar curvature, moreover

$$B_M(x_0, \frac{r}{2}) \times B_{R^3}(y_0, \frac{r}{2}) \subset \tilde{B}(\tilde{x}_0, r) \subset B_M(x_0, r) \times B_{R^3}(y_0, r) \quad (2.13)$$

where $\tilde{x}_0 = (x_0, y_0)$, $x_0 \in M$, $y_0 \in R^3$. So from (2.13) and the volume comparison theorem, we get

$$C(\frac{r_2}{r_1})^3 \leq \frac{\text{vol}[\tilde{B}(\tilde{x}_0, r_2)]}{\text{vol}[\tilde{B}(\tilde{x}_0, r_1)]} \leq (\frac{r_2}{r_1})^{n+3}, \text{ for } r_1 \leq r_2. \quad (2.14)$$

Then

$$\begin{aligned} \int_0^r sk(\tilde{x}_0, s)ds &= \int_0^r \frac{s}{\text{vol}(B(\tilde{x}_0, s))} \int_{B(\tilde{x}_0, s)} R(\tilde{x})d\tilde{v}ds \\ &\leq C \int_0^r \frac{s}{(\frac{s}{2})^3 \text{vol}(B_M(x_0, \frac{s}{2}))} \int_{B_M(x_0, s) \times B_{R^3}(y_0, s)} \tilde{R}(\tilde{x})d\tilde{v}ds \\ &\leq C \int_0^r \frac{s}{\text{vol}(B_M(x_0, s))} \int_{B_M(x_0, s)} R(x)dvds \leq C \int_0^r sk(x_0, s)ds. \end{aligned}$$

Thus from (*), we have $\int_0^r sk(\tilde{x}_0, s)ds = o(\log r)$. Since $\tilde{R}(\tilde{x}) = R(x)$, we only prove that $\tilde{R}(\tilde{x}) \equiv 0$. So we can discuss the problem on \tilde{M} . For convenience, we drop off the symbol \sim in the following.

From the fact that $g_{ij}(x, t) = (u(x, t))^{\frac{4}{n-2}}g_{ij}(x)$, we can compute directly:

$$u^{\frac{4}{n-2}}R(x, t) = R(x) - \frac{4(n-1)}{n-2}\Delta \log u. \quad (2.15)$$

From Li-Yau-Hamilton inequality on locally conformally flat manifolds [12], we obtain

$$\frac{\partial R}{\partial t} + \frac{R}{t} \geq 0, \quad \frac{\partial(R(x, t)t)}{\partial t} \geq 0.$$

Thus $R(x, t)t$ is nondecreasing in time. Since $R(x, 0) = R(x)$ is bounded, $R(x, t)t \geq 0$, for $t \geq 0$. Thus $R(x, t) \geq 0$.

From (2.15), we have

$$\Delta \log u(x, t) \leq \frac{n-2}{4(n-1)}R(x), \quad x \in M, \quad t \geq 0. \quad (2.16)$$

Since the Ricci curvature of M is nonnegative and (2.14) holds, we know from [6] that there exists a positive Green function $G(x_0, x)$ satisfying

$$\begin{cases} \frac{d^2(x_0, x)}{C \text{vol}[B(x_0, d(x_0, x))]} \leq G(x_0, x) \leq C \frac{d^2(x_0, x)}{\text{vol}[B(x_0, d(x_0, x))]}, \\ |\nabla G(x_0, x)| \leq C \frac{d(x_0, x)}{\text{vol}[B(x_0, d(x_0, x))]} \end{cases} \quad (2.17)$$

For $\forall \alpha > 0$, we define $\Omega_\alpha = \{x \in M \mid G(x_0, x) \geq \alpha\}$.

From (2.14) and (2.17), we have

$$\frac{1}{C(d(x_0, x))^{n+1} \text{vol}[B(x_0, 1)]} \leq G(x_0, x) \leq \frac{C}{d(x_0, x) \text{vol}[B(x_0, 1)]}$$

for $d(x_0, x) \geq 1$. Thus $\bar{\Omega}_\alpha$ is compact subset of M , and $\partial\Omega_\alpha = \{x \in M \mid G(x_0, x) = \alpha\}$.

Moreover we assume that α satisfies $\alpha > 0$, then there exists a number $d(\alpha) \geq 1$ such that

$$\frac{d^2(\alpha)}{\text{vol}[B(x_0, d(\alpha))]} = \alpha. \quad (2.18)$$

Thus combining (2.17) and (2.18), we have: for $\forall x \in \partial\Omega_\alpha$

$$\frac{d^2(\alpha)}{\text{vol}[B(x_0, d(\alpha))]} \leq \frac{C d^2(x_0, x)}{\text{vol}[B(x_0, d(x_0, x))]}, \quad \frac{d^2(\alpha)}{d^2(x_0, x)} \leq \frac{C \text{vol}[B(x_0, d(\alpha))]}{\text{vol}[B(x_0, d(x_0, x))]}$$

which together with (2.14) implies $d(x_0, x) \leq C d(\alpha)$, $\forall x \in \partial\Omega_\alpha$. Thus

$$\Omega_\alpha \subset B(x_0, C d(\alpha)). \quad (2.19)$$

By the Green formula, it follows

$$\log u(x_0, t) = \int_{\Omega_\alpha} (\alpha - G(x_0, x)) \Delta \log u(x, t) dv - \int_{\partial\Omega_\alpha} \log u \frac{\partial G}{\partial \vec{r}} d\sigma,$$

where \vec{r} denotes the outer unit normal vectors of $\partial\Omega_\alpha$, $d\sigma$ denotes the volume element of $\partial\Omega_\alpha$.

From (2.16), we get

$$\begin{aligned} \log u(x_0, t) &\geq \int_{\Omega_\alpha} (\alpha - G(x_0, x)) \frac{n-2}{4(n-1)} R(x) dv - \int_{\partial\Omega_\alpha} \log u \frac{\partial G}{\partial \vec{r}} d\sigma \\ &\geq -C \int_{\Omega_\alpha} G(x_0, x) R(x) dv + \int_{\partial\Omega_\alpha} \log u \mid \nabla G(x_0, x) \mid d\sigma. \end{aligned} \quad (2.20)$$

Now we estimate the last two terms respectively. Since Ricci curvature is nonnegative, from Ni-Shi-Tam's result [9], we know that

$$\int_{B(x_0, r)} G(x_0, x) R(x) dv \leq C \int_0^r s k(x_0, s) ds.$$

Thus from (*) and (2.19), we obtain that

$$\begin{aligned} \int_{\Omega_\alpha} G(x_0, x) R(x) dv &\leq \int_{B(x_0, C d(\alpha))} G(x_0, x) R(x) dv \\ &\leq \int_0^{C d(\alpha)} s k(x_0, s) ds. \end{aligned} \quad (2.21)$$

By (2.17), we have

$$\int_{\partial\Omega_\alpha} \log u \mid \nabla G(x_0, x) \mid d\sigma \geq \frac{C d(\alpha)}{\text{vol}(B(x_0, d(\alpha)))} \int_{\partial\Omega_\alpha} \log u(x, t) d\sigma.$$

By integrating two sides from α to 2α , we get

$$\int_\alpha^{2\alpha} \int_{\partial\Omega_\beta} \log u \mid \nabla G(x_0, x) \mid d\sigma d\beta \geq \frac{C d(\alpha)}{\text{vol}(B(x_0, d(\alpha)))} \int_\alpha^{2\alpha} \int_{\partial\Omega_\beta} \log u d\sigma d\beta. \quad (2.22)$$

We know from the definition of $d(\alpha)$ that for $\alpha \leq \beta \leq 2\alpha$

$$\frac{d^2(\alpha)}{\text{vol}(B(x_0, d(\alpha)))} \leq \frac{d^2(\beta)}{\text{vol}(B(x_0, d(\beta)))} \leq \frac{2 d^2(\alpha)}{\text{vol}(B(x_0, d(\alpha)))},$$

$$\frac{\text{vol}(B(x_0, d(\beta)))}{\text{vol}(B(x_0, d(\alpha)))} \leq \frac{d^2(\beta)}{d^2(\alpha)} \leq \frac{2 \text{vol}(B(x_0, d(\beta)))}{\text{vol}(B(x_0, d(\alpha)))}$$

which together with (2.14) implies

$$C^{-1}d(\alpha) \leq d(\beta) \leq Cd(\alpha), \quad \alpha \leq \beta \leq 2\alpha.$$

Since $d\beta = \frac{\partial G}{\partial r} dr$, from (2.14) and (2.17), we have

$$\begin{aligned} d\sigma d\beta &= \frac{\partial G}{\partial r} d\sigma dr = \left| \frac{\partial G(x_0, x)}{\partial \vec{r}} \right| d\sigma |dr| \leq |\nabla G(x_0, x)| dv \\ &\leq \frac{Cd(\beta)}{\text{vol}(B(x_0, d(\beta)))} dv \leq \frac{Cd(\alpha)}{\text{vol}(B(x_0, d(\alpha)))} dv. \end{aligned}$$

Thus from (2.18), (2.19) and (2.22), we have

$$\begin{aligned} \int_{\alpha}^{2\alpha} \int_{\partial\Omega_{\beta}} \log u |\nabla G(x_0, x)| d\sigma d\beta &\geq C \left(\frac{d(\alpha)}{\text{vol}(B(x_0, d(\alpha)))} \right)^2 \int_{\Omega_{\alpha} \setminus \Omega_{2\alpha}} \log u dv \\ &\geq C \frac{\alpha}{\text{vol}(B(x_0, d(\alpha)))} \int_{\Omega_{\alpha}} \log u(x, t) dv \\ &\geq C \frac{\alpha}{\text{vol}(B(x_0, Cd(\alpha)))} \int_{B(x_0, Cd(\alpha))} \log u(x, t) dv. \end{aligned} \quad (2.23)$$

By integrating (2.20) from α to 2α , and combining (2.21) and (2.23), we have

$$\log u(x_0, t) \geq C \left[\frac{1}{\text{vol}(B(x_0, Cd(\alpha)))} \int_{B(x_0, Cd(\alpha))} \log u(x, t) dv - \int_0^{Cd(\alpha)} sk(x_0, s) ds \right].$$

Let $r = Cd(\alpha)$. We get the desired estimate (2.12). \square

3. Proof of Theorem

From Lemmas 2.1 and 2.2, we get the lower bound estimate for the solution of (2.2):

$$\begin{aligned} (\log u)_{\min}(t) &\geq \lim_{r \rightarrow +\infty} -C \left[\int_0^r sk(x_0, s) ds - \frac{1}{\text{vol}(B(x_0, r))} \int_{B(x_0, r)} \log u dv \right] \\ &\geq \lim_{r \rightarrow +\infty} -C \left[\int_0^r sk(x_0, s) ds + t(r^{-2})(1 - (\log u)_{\min}(t)) \right]. \end{aligned}$$

From Proposition 2.1, we know the solution $u(x, t)$ of (2.2) exists for all times and satisfies

$$(\log u)_{\min}(t) \geq \lim_{r \rightarrow +\infty} -C [o(\log r) + t(r^{-2})(1 - (\log u)_{\min}(t))]$$

for all $t > 0$, where C is positive constant depending only on n .

Now let $t = r$. According to condition (*), we have

$$\lim_{t \rightarrow +\infty} -\frac{(\log u)_{\min}(t)}{\log t} = 0. \quad (3.1)$$

By (2.1) and $g_{ij}(x, t) = (u(x, t))^{\frac{4}{n-2}} g_{ij}(x)$, we have

$$\begin{aligned} \frac{\partial g_{ij}(x, t)}{\partial t} &= \frac{4}{n-2} (u(x, t))^{\frac{4}{n-2}-1} \frac{\partial u}{\partial t} g_{ij}(x), \\ -R(x, t) g_{ij}(x, t) &= \frac{4}{n-2} (u(x, t))^{\frac{4}{n-2}-1} \frac{\partial u}{\partial t} g_{ij}(x), \end{aligned}$$

$$\begin{aligned}
-R(x, t)g_{ij}(x, t) &= \frac{4}{n-2}(u(x, t))^{\frac{4}{n-2}}g_{ij}(x)\frac{\partial \log u}{\partial t}, \\
\frac{\partial}{\partial t} \log u(x, t) &= -\frac{n-2}{4}R(x, t), \\
\int_0^t R(x, \tau)d\tau &= -\frac{4}{n-2} \log u(x, t) \leq -\frac{4}{n-2}(\log u)_{\min}(t).
\end{aligned}$$

Since $R(x, t)t$ is nondecreasing in time, we have

$$R(x, \tau) > R(x, \sqrt{t})\sqrt{t}\frac{1}{\tau}, \text{ for } \tau \geq \sqrt{t}.$$

Thus

$$\int_0^t R(x, \tau)d\tau \geq \int_{\sqrt{t}}^t R(x, \tau)d\tau \geq \frac{1}{2}R(x, \sqrt{t})\sqrt{t} \log t.$$

So we have

$$\frac{1}{2}R(x, \sqrt{t})\sqrt{t} \log t \leq -\frac{4}{n-2}(\log u)_{\min}(t)$$

which together with (3.1) implies $\lim_{t \rightarrow +\infty} R(x, \sqrt{t})\sqrt{t} = 0$. Thus $R(x, \sqrt{t})\sqrt{t} \equiv 0$, namely, $R(x, t) \equiv 0$, for $\forall x \in M, t \geq 0$. Therefore the manifold M with the initial metric must be flat. \square

Acknowledgments The author is grateful to Professor CHEN Zhihua of Tongji University for his help and encouragement.

References

- [1] RUAN Qihua, CHEN Zhihua. *Gap theorem on Riemannian manifold with decaying scalar curvature* [J]. Tongji Daxue Xuebao Ziran Kexue Ban, 2005, **33**(10): 1401–1406.
- [2] CHEN Binglong, ZHU Xiping. *A gap theorem for complete noncompact manifolds with nonnegative Ricci curvature* [J]. Comm. Anal. Geom., 2002, **10**(1): 217–239.
- [3] CHEN Binglong, ZHU Xiping. *On complete noncompact Kähler manifolds with positive bisectional curvature* [J]. Math. Ann., 2003, **327**(1): 1–23.
- [4] CHOW B. *The Yamabe flow on locally conformally flat manifolds with positive Ricci curvature* [J]. Comm. Pure Appl. Math., 1992, **45**(8): 1003–1014.
- [5] SHI Wanxiong. *A uniformization theorem for complete Kähler manifolds with positive holomorphic bisectional curvature* [J]. J. Geom. Anal., 1998, **8**(1): 117–142.
- [6] SHI Wanxiong. *Ricci flow and the uniformization on complete noncompact Kähler manifolds* [J]. J. Differential Geom., 1997, **45**(1): 94–220.
- [7] MOK N, SIU Y T, YAU S T. *The Poincaré-Lelong equation on complete Kähler manifolds* [J]. Compositio Math., 1981, **44**(1-3): 183–218.
- [8] NI Lei, SHI Yuguang, TAM L F. *Poisson equation, Poincaré-Lelong equation and curvature decay on complete Kähler manifolds* [J]. J. Differential Geom., 2001, **57**(2): 339–388.
- [9] NI Lei, TAM L F. *Kähler-Ricci flow and the Poincaré-Lelong equation* [J]. Comm. Anal. Geom., 2004, **12**(1-2): 111–141.
- [10] GREENE R E, WU H. *Gap theorems for noncompact Riemannian manifolds* [J]. Duke Math. J., 1982, **49**(3): 731–756.
- [11] BANDO S, KASUE A, NAKAJIMA H. *On a construction of coordinates at infinity on manifolds with fast curvature decay and maximal volume growth* [J]. Invent. Math., 1989, **97**(2): 313–349.
- [12] CAO Huaidong. *On Harnack's inequalities for the Kähler-Ricci flow* [J]. Invent. Math., 1992, **109**(2): 247–263.